TEXHUWYECKWE OAHHBIE

OBozrave- Hom. Hom. Hom. Tok FPazmeps
HUe O Bo3xraverue an ToK S naTpoHa.
NpeaoXpacu- naTpoxa P ' MM
Tens (Tuna)
|:TL-‘II'IE:| kB A KA L D H
nT1.1-3 Y3 3 40 212+2
nT1.1-6 :? 2] 2; 3,2:5:8; ED;D&D 312+2
MNKT = 101 va 10;16:20:31,5 55 315
nT1.1-10 Vi 10 50 412+2 56| —
Puc.1 NT1.1-20 i 20 2; 3.2:5:8:10 12'? 512+2
1 12,5
- 2:3,2:5:8 8
nT1.1-35 v3 | 35 = =5 61242
nr1.2-3 Y3 3 40;50;80;100 40 264+2
31,5:40:;50 31,5
. 4
MNKT = 102 nT1.2-6 Y3 2] 80 50 364+2
NT1.2.10 v3 | 10 31.5:40 318 1 spas2| 2| T
Puc 1 50 12,5
. nTr1.2-20 v3 20 16; 20 12.5 SE4+2
nT1.2-35 %3 35 10:;16:20 a8 EE4+2
nT1.3-3 Y3 3 160;200 40 264+2
a0:100 31,5
NT1.3-6 Y3 G J64+2
NKT -103 160 20
50 31,5
AT1.3-10 ¥3 | 10 80 20 apasa| 72| 148
Puc.2 100 12,5
nr1.3-20 Y3 20 31.5; 40; 50 12,5 E64+2
nT1.3-35 %3 35 31.,5:40 a8 EE4+2
s s 315:400 a0 | 28422
MKT104 nT1.3-6 V3 | , 160:200 31.5 spaso
nT0.3-6 V3 315 20 7| 72| 148
Puc.2 nT1.3.10 v3 | . ]gg 321[')“
. 464
nTo.3-10 %3 200 5 E Gd+2
Y3 — — 212+2
AKHO001 MHO.1-10 Vi 10 — — 31922
Y3 — — 412+2 | -
MHO.1-20 V1 20 — — 51920 56 | —
Puc.1 Y3 - — — 612+2
MHO.1-35 V1 35 — — 51242
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